HATE 7TR148

= _ B & (1088)
ARRLUF 2S5 —D3B (142)
=]y K & OUT | IN |GROSSHDCP| NET
1 B 2= 38 41 79 9 70
2 ma)i = 37 42 79 8 71
3 INFR =B 41 43 84 13 71
4 Bl BI 42 45 87 12 75
5 Lk BiE 43 44 87 12 75
BG B 2NE 38 41 79
Bkl F+ 2S5 —DE0 (58%)
[[E}ivi K & OUT | IN |GROSS|HDCP| NET
1 B friet=]) 46 40 86 27 59
2 WA =B 46 42 88 25 63
3 ME 188 39 42 81 17 64
4 sl T 49 46 95 30 65
5 X X 40 45 85 18 67
10 =i BASB 47 47 94 24 70
15 =% —Bf 49 48 o7 26 71
20 NEB = 45 50 95 22 73
25 O X 46 43 89 14 75
30 = Bx 54 51 105 30 75
BG A 188 39 42 81
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TSVRIZP « LT 1 —RDER (36%2)
[[Efivi K & OUT | IN |GROSSHDCP| NET
1 NE B= 38 35 73 9 64
2 EiE B8 42 38 80 14 66
3 3 2 36 45 81 13 68
4 WA 43 45 88 20 68
5 B =F— 39 42 81 12 69
10 &0 FE— 44 43 87 15 72
15 B8H BF 43 40 83 9 74
20 ANEI MNE 41 44 85 10 75
BG NE B= 38 35 73
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